BB B OB 5HE

A—L o7 ARE

SERR295E4 A 43
PR SRR B (AL
2 [ At AT B P
29 4H 5y 293 5 PHTRR =D
= I+ -1058% -1424% 378k
Bl a1 -1028% -138%% 3688
(T2 . WIEE T ERENE R HAL O FH )
LR 2944 A 4y OB E SRS B X Rk 284F 11 A ~ 2941 H O SE R EHMIE R I L E L E T,
SELRREHT R
SER284E11 H ~ %2941 H JE MR 1kl 7= 20,3009  (A)
(100 A fi UU ¥ FA)
< 4y B SR 2 WA B B R
SEY AT RS 1kl H7=» 34,876 0.2104 7,338
SEBJHAL R IRA Ak 1t B0 42,6481 0.0541 2,307
SEX A ERAm RS 1t H7=V 10,0921 1.0588 10,685
FEEREMEAE KOt FEVERE
FEVEBREH RS (B) FEVEH AT (C)
= I+ 18.50%%
26,0001 Rl 1 17.908%
W XM S R #526,000 % E R > 7256
IR | = TR (A) - SRR (B)) x5 I (C)

ST IR (A) 7339,000 1 588 S F 3 AT 39 000 i 5 F R LT 5

W R 03 L TERORHI#4 26,000 & T [El o 725 &

PR B R HLAf

= LRI (3

) TR (1)) x s L)

B ARERFIEEMOBAIL, 18821, Z0mEIT, MAUTEILCTHERLALET,




A=V TR R~ oo —HTF 4 TR
A—L IR AN~ e D) T o —bF 4 TR S 4

INELHE TR EL D SRS

SERR294E4 A 43
A TR BT H Al .
PR e A FR294E 4H 5 k29483 A 4y BUTHAME D
(PIBL) -1098% -148%% 394%

(25« WEESBIEH R R H A OFH )
R 294EA ] 53 ORRENE TS HLATSF 284 11 ~ FHR294E LA O BHI R I K0 S SR E S,
PR ffi b

SER%284E11 H ~ R 29451 H JE MR 1k1dH 720 20,300 (A)
(1009 = fi U #5 F.A)
E W SR 3 W B R
SEY AT RS 1kl H7=0 34,876 0.2104 7,338
SER A TIRAT Al 1t H7=H 42,648 0.0541 2,307
SEYA RAMES 1t H7= 10,092 1.0588 10,685
FEYEREHERE KON FEYERM
FEVEBREH RS (B) FEVEH AT (C)
26,0009 19.208%

W XM S R #526,000 % E R > 7256

PRI | = PRI (A) - SRR (B)) x5 L (C)

W R 03 L TERORHI#4 26,000 & T [El o 725 &

PRI | = GBI (B) - TR (1) x B I (C)

B ARIERFEEMOBAIL, 18821, Z0mET, MAUTEILCTHELALET,




